





lllll/ /.-/ dav i ralion
4 /

We are learning ahout capacity and volume. Which ohjects
do youw think that we will need to help us learn about
this...




We are learning abhout capacity and volume. Which ohjects
doyouw think that we will need help us learn this...
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We want the children €o




OMW Can we compare and
describhe the amount of water
inside the beakers




Would you uwse different language to describe these?
Are they the same? What is different?
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Bottle A cannot hold any more
waoter. It is full.

Bottle C has no water at all. It
is empiy.

Bottle B has more water than C
but less water than A.
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play in groups of 3 1o 4.
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Start with an empty -

Each player takes turns to fill

with either one or two

The first player to fill the

the water overflows loses the game
Ihe player who went before this wins < 4

the gamae ‘
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Can y.ou
explain whuy

there are tw.o

Lines?

They are
measuring the
water in Iw.o
places as the
cylinder.is 3D.

Compare using more than or less than.
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The amount of
water in beaker P

oWewsyl ]
beaker Q.

The amouwnt
of water in
bheaker Q is

Beaker P.
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The amount of water in Beaker S

L5 the amount in Beaker T.and
the amount in Beaker R



¢ using full, empty, more than
compo™ or less than,
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The amount of water in Beaker A is

o@ the amount
%af is in each of water in Beaker B. The amount of water in Beaker B is

the amount of water in Beaker A,
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their glasses of water.
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Can you fill in how much water could be
in each of the children’s glasses?
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On 8his lide the children look
o the ofjects and they choose
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language capacify.

Which container has the greater capocity?

more than less than
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do we bnow that are different
m%ecufam%aaamif and
WMWWA&WM
Csl, he childinen which Bowd folds
Ye most , which Bowd folds the

Guided mwork -todoy we are measuring. Each

cup islunit.
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The capacity of the bowl is about
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8 cupfuls
discuss i

! Tcupful

glass

the is four 5 @ 4 cupguls

teapot
milk jjug
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Which has the greater capacity?
The hottle or the cup?

Share youwr ideas with a partner

Are youw certain or
’ Ls 1t an estimate?
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The bottle and mug are filled with water:

Water from the bottle fills 3 cups
Water from the mug fills 2 cups.

The capacity of the bottle is 3 units.
The capacity of the mug is 2 units.

The bottle has a greater capacity than the mug.




ILI pour the waoater from the bottle it
Tn Chis slide we are ini mwill gill 3 cups.

Yot we can reverse &r3
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So, the capacity of the bottle is
3 cups.



ILI pour the water from the mug it will
Lill 2 cups.

Tell your partner the capacity of the
mag.
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bovi :  What you need:
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Use ' to measure the capacity.

yw earl?w confamen are uof Example
%«u&m as his wouu Your bottle I guess the capacity is about
— - units.

= YThe capacity is about - units. \




Fon neack thnee slides asle the
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The capocity of
the tank is
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The volume of
the jug is
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The capacity of the is Lup}uls

It takes 5 @to fill 1 -

TP
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How many @ will it take to fill 2 buckets?

What about three buckets?
Four buckets?

What do you notice?
Can you continue the pattern?



https://pbskids.org/dinosaurtrain/games/hydrationstation.html
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Which container can hold half as much water as ?
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My glass is Lall.

My bowl is empty.
bowl
~—

I pour the water from my glass into the
b.owl.
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The capacity of the
is half the capacity of the
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Guided Practise Yse plihor 2 or hatd Lo

complete the

sltatemenits.

beakers bucket

The volume of water in one heaker is
_______ the capacity of water in the bucket.

After the bucket is filled mwith 1 beaker of
water the bucket is full.



@ Guess which contain

hold half as much water
as a large container-

@ Use water to check if

*mmyout-u if
targe container?
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your guess is correct.

as much —
large




S3 Describhing Volume using Half and Quarter
independent work (1)
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Look .at the capacities of the fish tank and the '
bowl. Find the correct answers.

a) The capacity of one beaker is half of / quarter
of the fish tank.

b)The capacity of one cup is half of/ quarter of
the fish howl.

c)After filling the fish tank with one heaker it
will he half of /| quarter of / half full.
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The bhottle will he half full.
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The nesct few slides are whaf
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CAPACITY

Captain Conjecture says, ‘All of the glasses contain
the same quantity of lemonade!

Do you agree?
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Explain your reasoning.
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answen in senfences. I have back and forth
wiitlen fow I would do if on /
e next slide.
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tank A B L3
The volume of water in the tank is 8 units
The capacity of beaker A is 3 units

The capacity of beaker B is 5 units.

Show how the tank and beaker B can have 4 units of water each



Fill heaker A

Put 1 unit in heaker B

Add the units prom beaker A to beokerB

Tank and heaker B have & units each.



The volume of water in the tank is 8 units.
The capacity of beaker A is 3 units.
The capacity of beaker B is 5 units.

Show how the tank and beaker B can nave < uruits Ol water each,

Maths Journal

Describe using more than half or less than half.

(@) The capacity of beaker A is eﬁm the capacity of

the tank.

(b) The capacity of beaker B is m the capacity of

the tank.



